1 1. a) Circle the numbers that are divisible by 4.

6D 1407 (0d) 3u41 763

b) How do you know if a number is divisible by 4?
Li b alice Un nbmepo es Ayisible por Y S /A o

8 ‘ree/?/?c&enfﬁ_d@ poe [ps dos SiTimes  nomeesel do Aivis Kl pos .
2. a) Circle the numbers that are divisible by 2 and by 3.
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b) What other number are the circled numbers in part a divisible by? __©

How do you know?
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12 3. Which rfumbers below are divisible by 82 Divisible by 52 : 5o
How do you know? $

a)244:. B NO Dpp cFxo
v

No pur octo

b) 160: _Jor cinco —> Teremina. en O

for 8 > s Tres cfeas son AVisble poe §

) =3ili5¢ /%f Cinee — 7eemincs €1 O

Vo e 8

d) 608: No ,/%,Q eereD

/gz G- Tlpe CyRas Son cbvisibles e £

4. Use your answers from question 3 to help you list all the factors of each number.
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13 5. Write an algebraic expression for each phrase. Use the variable 7.

a) Three times a number: 2
b) Five less than a number: i
¢) Twenty divided by a number: n

d) Seven more than four times a number: kT
6. Evaluate each expression for n = 5.

a)n+7=__/<;2_/ b) 10-n= 5 0 2n+3= 3

14 7. a) Zadie climbed four sets of stairs every minute for the Charity Stair Climb Fundraiser.
Complete this table. The pattern continues.

Time
¢ e I e B TR R e S R e
(minutes) »
_ | Sets of stairs Ay Y i
Chbed‘VﬁQ:/ézoo? R |32 :

L]
9

b) How many sets of stairs will Zadie have climbed after 15 minutes? ibx 4 = 60

t

8. Write a relation for the pattern rule for each number patterri.

g i
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15 9. Complete each table.
; How is each Output number related to its Input number?

3) | Input | Output b) | Input | Output 9 | Input | Output
n 3n+5 n 5n+3 n 5n-3
1 6 \)4”3 1 g \> ic ik ;—’ \ +5
2 ] & Z 5 = 2 I <
3 14 4,:>>*’ > 3 |9 e>+5 3 (2
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@“%jﬁ““ 2 0y o Oumf bpes up by 5 Ou’i)b‘f Goes "kﬁ =
» = U y
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10. Use algebra. Write a relation for each table.

PuT
17 12. Write an equation for each sentence.
Let n represent the number.

a) Four times a number is sixteen.

it

b) Eight subtracted from four times a number is sixteen. 6//) il

a) Input | Output b) Input | Output g Input | Output
m m m
1 9 1 Cmaen, 1 5 ¥
RS >+ F >
2 11 ¢4] 2 16 o 2 12 %D
3 13 = 3 23 &_> 3 19
4 15 & 4 30 4 26 <>
5 L7 5 37 5 33 g__D
20T I, Fm - a.
16 11. Graph each relation in question 10.
UL ——

¢) Twelve more than four times a number is sixteen. g

90 - 32

d) Thirty-two minus four times a number is sixteen.

16

13. Write an equation for each sentence. Let 7 represent the number.

: . =
a) Four less than a number is sixteen. A=(H b
- =
b) A number divided by five is ten. 5 oo

¢) Five more than three times a number is eleven. Nts=/ /

18 14, Robin walked twice around a lake, plus an extra 3 km.
Her pedometer showed that she had walked a total of 19 km.
Write then solve an equation to find how far it is around the lake.

dn=+-d = |19 —pinz=g |
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